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g $f K 4 ouT IN [TOTAL|HDCP | NET
& B AW =& 4 38 | 79 13 66
B AHE= 33 | 37 | 70 3 67
3 fu Bk &R 38 | 39 | 77 10 67
4 i I = 38 | 41 79 12 67
5 fi ATl BEZ 37 36 73 5 68
B-G AN E= 33 37 70
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g $f K 4 ouT IN [TOTAL|HDCP | NET
& B LA & 41 39 | 80 12 68
#EEB BH XE 39 | 42 | 81 13 68
3 i HE &6 40 | 40 | 80 11 69
4 {u HH BE 39 | 38 77 5 72
5 fi 51 8 39 | 39 | 78 6 72
B-G & —2 39 37 76
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g $f K 4 ouT | IN |[TOTAL|HDCP| NET
& B FIEF —aR 4 4 82 | 18 64
B piz-X 37 | 48 | 85 | 19 66
3 i FTEF &08hA 40 | 43 | 83 | 16 67
4 i 8 SRF 38 | 45 | 83 | 15 68
5 {u 52 H 45 | 43 | 88 | 19 69
B-G FE — 41 41 82
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g $f K 4 ouT | IN |[TOTAL|HDCP| NET
& B BELt®EX 41 44 | 85 | 17 68
B M BEX 42 | 54 | 96 | 28 68
3 i o m iy 49 | 48 | 97 | 29 68
4 fif 7 Al 43 | 43 | 86 | 17 69
5 fi ZH Lt 46 | 47 | 93 | 24 69
B-G Ergx 41 | 44 | 85




